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D 4.32+6=0.72
@ 5.95+7=0.85
® 4.96+4 =124
@ 1.71+3=057
® 5.28 + 8 = 0.66
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® 0.21ha @ 3000 cm x 45 m

® 5800a @ 1.43km?

@1.41 km?

B

T 2o w92 1A A vt
@©0.21 ha = 2100 m?

@3000cm x 45m = 30m X 45m = 1350 m?
®5800a = 580000 m?

@®1.43km? = 1430000 m?

®1.41 km? = 1410000 m?
@>0>0>0>0




A7 [ 24 | 24 | 2% | 2%
4A 104 4A 104
F¥E | 17°C | 26°C | 26°C | 19°C
A 16°C | 19°C | 20°C | 17°C

O ZhE7t4°C o Wyt
@ AR} 5°C B By
® FA=4°C & 4T
@10 a4°c & Ry
®

sto] 5oC & Ut

B

B — 2m o] WA= 2= A4
AL B 7]
C(174+26+26+19)+4=88+4=22 °C
it g 712

D (164+19+20+17)+4="72+4=18 °C
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@[ x18 =531 @ 29.5x[_|=53100
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295 x 180 = 53100
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10000 — 23199 % 15000

0.295 x 18 = 5.31
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1000 1000
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(BBl 18] BA)=35 + 4= %gx }4 = (k)
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500g = %kg A
(@B g2e 2A)=1 -2 = 2 ()
(A" 15 A7 BA)= 1% +36x 15 = ;%gx % ><lf5(kg)
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